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Four operations with volume

. e How much milk is there in each set of cartons?
and capacity
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o a) What is the volume of water in each beaker?

A B
) m— b
h 100 mi— h 100 ml— )

80 ml— 80 ml—
70 ml— 70 ml—
60 ml— 60 ml— 51 51 51 51
50 ml— 50 ml— . JC _JC __JC
40 mI—_ — 40 ml =

- 30mi— 30 ml—
20 mi 20 mi I
10 ml— 10 ml—
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What do you notice?
mi ml

b) How much more water is there in beaker B

than in beaker A? 9 A teaspoon holds 5 ml. —
Ann pours 5 teaspoons T 100 Ml )
of juice into the beaker. 90 ml
ml 80 m|
) ml—
Draw a line to 70 ml—=
, 60 ml—
c) What is the total volume of water? show where the 50 2|_—
juice reaches. 40 m|=
30 ml—
ml 20 mI—_
10 ml—
)
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e A bucket holds 6 litres. G Max uses 15 ml of squash and 68 ml of water @

A jug holds 2 litres. to make some juice.
Ron pours 2 buckets of water and 3 jugs of He drinks 34 ml of the juice.
water into the barrel. How much juice does he have left?
20 litres—
_ m|
10 litres —
e Dan has two beakers of water. @
Draw a line to show where the water reaches. A B
S B S B
100mI—_ 100m|—_
e Fay pours the water from beakers A and B into @ :: ::
beaker C. %/ ] E B
A B C < = : =
h 50 ml— i— 506 h 100 ml— 1 E E
il - 90 ml—: L 1) . 1
40 ml— 40 ml— 80 ml—
N N 70 m:—: Dan pours some water from beaker A into
30 mi— 30 mi— 60 mi—
i (5 50 m|_: beaker B so that they now have the same
— —20-mi 20 ml— 40 ml—
] ] 30 miJ volume of water.
ety ity 20m 3 How much water is in each beaker now?
L ) N y q =,
She spills 5 ml of water as she is pouring.
Colour beaker C to show where the ml

water reaches.
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